

P_0 - ALMOST DISTRIBUTIVE FUZZY LATTICE

A. BERHANU¹, A. MIHRET¹ and T. GERIMA²

¹Department of Mathematics

College of Science

Bahir Dar University

Bahir Dar

Ethiopia

²Department of Mathematics

College of Natural Science

Wollo University

Dessie

Ethiopia

e-mail: gerima233@gmail.com

2020 Mathematics Subject Classification: 32A45, 99A00.

Keywords and phrases: almost distributive lattice, almost distributive fuzzy lattice, fuzzy poset, fuzzy lattice.

Received October 5, 2021

© 2022 Scientific Advances Publishers

This work is licensed under the Creative Commons Attribution International License (CC BY 3.0).

http://creativecommons.org/licenses/by/3.0/deed.en_US

Open Access



Abstract

The concept of P_0 -Almost Distributive Fuzzy Lattice (P_0 -ADFL) with a finite chain base is introduced and we prove basic properties about P_0 -ADFL. Necessary and sufficient conditions for characterization of monotone and disjoint representations of an element x in P_0 -ADFL are investigated.

1. Introduction

Swamy and Rao in [10] introduced the concept of an Almost Distributive Lattice (ADL) as a common abstraction of existing lattice and ring theoretic generalization of a Boolean algebra and observed that the set $PI(R)$ of all principal ideals of an Almost Distributive Lattice $(R, \vee, \wedge, 0, m)$ with a maximal element m , form a distributive lattice. Epstein and Horn in [2] introduced the concept of a P_0 -lattice. Later in [13], Traczyk was studied and explored properties of P_0 -lattice. has good application in computer and logic theory and the concept of a P_0 -Almost Distributive Lattice was introduced by Rao and Mihret in [7].

The concept of fuzzy set was introduced by Zadeh in [14] and this concept was adapted by Goguen in [4] and Sanchez in [12] use to define and study fuzzy relations. In this paper, we use fuzzy partial order relation defined in [5] and the kinds of ideals of fuzzy lattice in [6] to extend some important properties of P_0 -Almost Distributive Lattice to P_0 -Almost Distributive Fuzzy Lattice.

2. Preliminaries

Definition 2.1 ([9]). An algebra $(R, \vee, \wedge, 0)$ is called an Almost Distributive Lattice if it satisfies the following axioms:

- (1) $a \vee 0 = a$.
- (2) $0 \wedge a = 0$.
- (3) $(a \vee b) \wedge c = (a \wedge c) \vee (b \wedge c)$.

$$(4) a \wedge (b \vee c) = (a \wedge b) \vee (a \wedge c).$$

$$(5) a \vee (b \wedge c) = (a \vee b) \wedge (a \vee c).$$

$$(6) (a \vee b) \wedge b = b, \text{ for all } a, b, c \in R.$$

Theorem 2.1 ([9]). *Let m be a maximal element in an Almost Distributive Lattice R and $a \in R$. Then the following are equivalent:*

$$(1) m \text{ is maximal element of a poset } (R, \leq).$$

$$(2) a \wedge m = a.$$

$$(3) a \vee m = m.$$

$$(4) a \vee m \text{ is maximal.}$$

Definition 2.2 ([10]). Let R be an Almost Distributive Lattice with a maximal element m and $B(R) = \{a \in R \mid a \wedge b = 0 \text{ and } a \vee b \text{ is maximal for some } b \in R\}$. Then $(B(R), \vee, \wedge)$ is a relatively complemented Almost Distributive Lattice and it is called the *Birkhoff center of R* .

Lemma 2.1 ([9]). *Let $(R, \vee, \wedge, 0)$ be an Almost Distributive Lattice. Then the following conditions hold for all $a, b, c \in R$:*

$$(1) a \vee b = a \Leftrightarrow a \wedge b = b.$$

$$(2) a \vee b = b \Leftrightarrow a \wedge b = a.$$

$$(3) \wedge \text{ is associative.}$$

$$(4) a \wedge b \wedge c = b \wedge a \wedge c.$$

$$(5) (a \vee b) \wedge c = (b \vee a) \wedge c.$$

$$(6) a \wedge b = 0 \Leftrightarrow b \wedge a = 0.$$

$$(7) a \vee (b \wedge c) = (a \vee b) \wedge (a \vee c).$$

$$(8) a \wedge (a \vee b) = a, (a \wedge b) \vee b = b \text{ and } a \vee (b \wedge a) = a.$$

$$a \wedge a = a \text{ and } a \vee a = a.$$

$$(9) 0 \vee a = a \text{ and } a \wedge 0 = 0.$$

Definition 2.3 ([9]). Let R be an Almost Distributive Lattice with 0. Then for all $a, b \in R$, define $a \leq b$ if and only if $a \wedge b = a$ or equivalently $a \vee b = b$. Then (R, \leq) is a poset.

Definition 2.4 ([7]). Let R be an Almost Distributive Lattice with 0. Then a unary operation \star on R is called a *pseudo-complementation on R* if, for $a, b \in R$:

$$(1) a \wedge a^\star = 0.$$

$$(2) a \wedge b = 0 \Rightarrow a^\star \wedge b = b.$$

$$(3) (a \vee b)^\star = a^\star \wedge b^\star.$$

So that a^\star is called a pseudo-complement of $a \in R$ and R is called a pseudo-complemented Almost Distributive Lattice. An element a in R is said to be *dense* if $a^\star = 0$.

Definition 2.5 ([7]). A pseudo-complemented Almost Distributive Lattice $(R, \vee, \wedge, \star, 0, m)$ is called a stone Almost Distributive Lattice if, for any $a \in R$, $a^\star \vee a^{\star\star} = 0^\star$.

Definition 2.6 ([9]). Let R be an Almost Distributive Lattice with 0. A non empty subset I of R is an ideal of R , if it satisfy the following conditions:

$$(1) a, b \in I \Rightarrow a \vee b \in I.$$

$$(2) a \in I \text{ and } x \in R \Rightarrow a \wedge x \in I.$$

Theorem 2.2 ([9]). Let R be an Almost Distributive Lattice with 0. Then for any $a, b \in R$, we have the following:

(1) $(a] = \{a \wedge x | x \in R\}$.

(2) $a \in (b] \Leftrightarrow b \wedge a = a \Leftrightarrow (a] \subseteq (b] \Leftrightarrow a \wedge x \leq b \wedge x$, for all $x \in R$.

Lemma 2.2 ([9]). For any $a, b \in R$, the following hold:

(1) $(a] \cap (b] = (a \wedge b] = (b \wedge a]$.

(2) $(a] \vee (b] = (a \vee b] = (b \vee a]$.

Definition 2.7 ([7]). Let $(R, \vee, \wedge, 0, m)$ be an ADL with Birkhoff center $B(R)$ of R is called a pseudo-supplemented Almost Distributive Lattice if, for each $x \in R$, there exists $b \in B(R)$ such that

(1) $x \wedge b = b$.

(2) If $c \in B(R)$ such that $x \wedge c = c$, then $b \wedge c = c$. In this case, $b \wedge m$ is uniquely determined by x and is denoted by $!x$. We call $!x$ the pseudo-supplement of x .

Definition 2.8 ([7]). Let R be a bounded distributive lattice and $B(R)$ the center of R . A chain base of R is a finite sequence $0 = e_0, e_1, \dots, e_{n-2}, e_{n-1} = 1$ such that R is generated by $B(R) \cup \{e_0, e_1, \dots, e_{n-1} = 1\}$. If R has a chain base, then R is called a P_0 -lattice.

Definition 2.9 ([7]). Let R be an Almost Distributive Lattice with 0 and maximal elements. Then R is called a P_0 -Almost Distributive Lattice if $(PI(R), \vee, \wedge, 0, R)$ is a P_0 -Lattice.

Definition 2.10 ([8]). Let X be a set, A function $A : X \times X \rightarrow [0, 1]$ is said to be *fuzzy partial order relation* if it satisfies the following condition:

(1) $A(x, x) = 1, \forall x \in X$ that is A is reflexive.

(2) $A(x, y) > 0$, and $A(y, x) > 0$ implies that $x = y$. That is A is antisymmetric.

(3) $A(x, z) \geq \sup_{y \in X} \min[A(x, y), A(y, z)] > 0$. That is A is transitive.

If A is a fuzzy partial order relation in a set X , then (X, A) is called a fuzzy partial order relation or fuzzy poset.

Definition 2.11 ([5]). Let (X, A) be a fuzzy poset. Then (X, A) is a fuzzy lattice if and only if $x \vee y$, and $x \wedge y$ exists for all $x, y \in X$.

Definition 2.12 ([5]). Let (X, A) be a fuzzy lattice. Then (X, A) is distributive if and only if $x \wedge (y \vee z) = (x \wedge y) \vee (x \wedge z)$, and $(x \vee y) \wedge (x \vee z) = x \vee (y \wedge z)$, for all $x, y, z \in X$.

Definition 2.13 ([5]). Let (X, A) be a fuzzy lattice and $Y \subseteq X$. Then Y is an ideal of (X, A) .

(1) If $x \in X, y \in Y$ and $A(x, y) > 0$, then $x \in Y$.

(2) If $x, y \in Y$, then $x \vee y \in Y$.

Definition 2.14 ([6]). Let (X, A) be a fuzzy lattice and $x \in X$. Then the set determined by $\downarrow x = \{y \in X : A(y, x) > 0\}$ is called principal ideal of (X, A) generated by x . The family of all ideals of a fuzzy lattice (X, A) will be denoted by $I(X)$.

Definition 2.15 ([2]). Let $(R, \vee, \wedge, 0)$ be an algebra, and we call (R, A) is an Almost Distributive Fuzzy Lattice (ADFL) if the following condition satisfied:

(1) $A(a \vee 0, a) > 0$.

(2) $A(0 \wedge a, 0) > 0$.

(3) $A((a \vee b) \wedge c, (a \wedge c) \vee (b \wedge c)) = A((a \wedge c) \vee (b \wedge c), (a \vee b) \wedge c) = 1$.

$$(4) A(a \wedge (b \vee c), (a \wedge b) \vee (a \wedge c)) = A((a \wedge b) \vee (a \wedge c), a \wedge (b \vee c)) = 1.$$

$$(5) A(a \vee (b \wedge c), (a \vee b) \wedge (a \vee c)) = A((a \vee b) \wedge (a \vee c), a \vee (b \wedge c)) = 1.$$

$$(6) A((a \vee b) \wedge b, b) = A(b, (a \vee b) \wedge b) = 1, \text{ for all } a, b, c \in R.$$

Throughout this paper, we write (R, A) for an Almost Distributive Lattice, and R be an Almost Distributive Lattice $(R, \vee, \wedge, 0)$ with maximal element, $(PI(R), A)$ a principal ideal fuzzy lattice of an Almost Distributive Fuzzy Lattice (R, A) and $B_A(PI(R))$ the Birkhoff center of a principal ideal fuzzy lattice $(PI(R), A)$.

In (R, A) and $(PI(R), A)$ A represents $A : R \times R \rightarrow [0, 1]$ and $A : PI(R) \times PI(R) \rightarrow [0, 1]$, respectively.

3. P_0 -Almost Distributive Fuzzy Lattice

Definition 3.1. Let $PI(R)$ be a principal ideal of an Almost Distributive Lattice R , and (R, A) be an Almost Distributive Fuzzy Lattice with maximal element m . Then $(PI(R), A)$ is the set of all principal ideal fuzzy lattice of (R, A) .

Definition 3.2. Let $(PI(R), A)$ be the principal ideal fuzzy lattice of an Almost Distributive Fuzzy Lattice (R, A) . Then $(a]_A = \{x \in R \mid A(x, a \wedge x) > 0\}$, for all $x \in R$.

Definition 3.3. Let $(PI(R), A)$ be a principal ideal fuzzy lattice of an Almost Distributive Fuzzy Lattice (R, A) .

Define $B_A(PI(R)) = \{(a]_A \mid (a]_A \cap (b]_A \subseteq (0]_A \text{ and } R \subseteq (a \vee b]_A \text{ for some } b \in R\}$. Then $B_A(PI(R))$ is called the Birkhoff center of the principal ideal fuzzy lattice $(PI(R), A)$.

Lemma 3.1. *The set of all principal ideal fuzzy lattice of (R, A) forms a distributive fuzzy lattice.*

Proof. Let (R, A) be an Almost Distributive Fuzzy Lattice, and $(PI(R), A)$ be the principal ideal fuzzy lattice of (R, A) .

Let $(0], (a], (b) \in (PI(R), A) \Rightarrow (0], (a], (b) \in PI(R)$.

(1) $(a]_A \cap (b]_A = (a \wedge b]_A \supseteq (0]_A$, since 0 is the least element. Imply that $(a]_A \cap (b]_A \supseteq (0]_A$.

$$(a]_A \vee (b]_A = (a \vee b]_A = R.$$

So that we have $R \subseteq (a \vee b]_A$. Hence $(PI(R), A)$ is bounded. Since $PI(R) \subseteq R$ and R is an ADL with 0. Clearly $(PI(R), A)$ is an Almost Distributive Fuzzy Lattice. It remain to show the binary operation \vee, \wedge is commutative and \vee is right distributive over \wedge .

(2) $(a]_A \cap (b]_A = (a \wedge b]_A = (b \wedge a]_A = (b]_A \cap (a]_A$. since $(a] \cap (b) = (a \wedge b) = (b \wedge a]$.

Hence \wedge is commutative. $(a]_A \vee (b]_A = (a \vee b]_A = (b \vee a]_A = (b]_A \vee (a]_A$, since $(a] \vee (b) = (a \vee b) = (b \vee a) = (b] \vee (a]$. \vee is commutative.

(3) Let $(a], (b], (c) \in (PI)(R), A) \Rightarrow (a], (b], (c) \in PI(R)$. Now

$$\begin{aligned} & [(a]_A \cap (b]_A] \vee (c]_A \\ &= [(a \wedge b]_A] \vee (c]_A \\ &= (c]_A \vee [(a \wedge b]_A] \text{ by (2) above} \\ &= (c \vee (a \wedge b)]_A \\ &= (c \vee a]_A \wedge (c \vee b]_A \text{ by LD } \vee \\ &= ((c]_A \vee (a]_A) \wedge ((c]_A \vee (b]_A) \\ &= ((a]_A \vee (c]_A) \wedge ((b]_A \vee (c]_A) \text{ by (2) above.} \end{aligned}$$

Hence $[(a]_A \wedge (b]_A] \vee (c]_A = ((a]_A \vee (c]_A) \wedge ((b]_A \vee (c]_A))$ holds. So that $(PI(R), A)$ is distributive fuzzy lattice. Thus $(PI(R), A)$ is a bounded distributive fuzzy lattice on $[[0], (a \vee b]]$. \square

Lemma 3.2. *Let (R, A) be an Almost distributive Fuzzy Lattice with maximal element m and $a, b \in R$. Then the following hold:*

- (1) $(a]_A = R$ if and only if a is maximal.
- (2) $(a]_A \subseteq (b]_A$ if and only if $A(a, b) > 0$.
- (3) $(a]_A = (b]_A$ if and only if $A(a \wedge m, b \wedge m) = A(b \wedge m, a \wedge m) = 1$.

(4) *Let $B_A(R)$ and $B_A(PI(R))$ be the center of an Almost Distributive Fuzzy Lattice (R, A) , and the set of principal fuzzy ideal of (R, A) , respectively, and $a \in R$. Then $(a] \in B_A(PI(R))$ if and only if $a \in B_A(R)$.*

Proof. (1) Let $(a]_A = R$, for any $x \in R$ we have $x \in (a]_A \Rightarrow A(x, a \wedge x) > 0$. Since $a \wedge x \leq x$, we have $A(a \wedge x, x) > 0$. Hence $a \wedge x = x$ by antisymmetry property of A . Imply that $x \leq a$ by Theorem 2.9. Thus a is maximal element. On the other hand, suppose a is maximal element. Then $a \wedge x = x$, for all $x \in R$. Imply that $x \leq a \wedge x$. So that we have $A(x, a \wedge x) > 0$ and hence $x \in (a]_A$. Therefore $R \subseteq (a]_A$. Clearly $a \in (a]_A \Rightarrow a \in R$ and hence $(a]_A \subseteq R$. Thus $(a]_A = R$.

(2) Suppose $(a]_A \subseteq (b]_A$. We need to show $A(a, b) > 0$. Since $a \in (a]_A \Rightarrow a \in (b]_A \Rightarrow A(a, b \wedge a) > 0$. Since $b \wedge a \leq a$, we have $A(b \wedge a, a) > 0$. Thus $b \wedge a = a$ by antisymmetry property of A . Implies that $a \leq b$ by Theorem 2.9. Therefore $A(a, b) > 0$.

On the other hand, suppose $A(a, b) > 0$. Then we show $(a]_A \subseteq (b]_A$. Now, $A(a, b) > 0$ implies $b \wedge a = a \Rightarrow b \wedge a \leq a$ and $a \leq b \wedge a \Rightarrow A(a, b \wedge a) > 0$. So that $a \in (b]_A$ and hence $(a]_A \subseteq (b]_A$.

(3) Let $a, b \in R$ and m is maximal element in (R, A) . Then $(a]_A = (b]_A$ if and only if $(a]_A \subseteq (b]_A$ and $(b]_A \subseteq (a]_A \Leftrightarrow A(a, b \wedge a) > 0$ and $A(b, a \wedge b) > 0 \Leftrightarrow A(a \wedge m, b \wedge a \wedge m) = A(b \wedge a \wedge m, a \wedge m) = 1$ and $A(b \wedge m, a \wedge b \wedge m) = A(a \wedge b \wedge m, b \wedge m) = 1$ $A(b \wedge m, a \wedge m) > 0$ and $A(a \wedge m, b \wedge m) > 0$, since $a \wedge b \wedge m \leq a \wedge m$ and $b \wedge a \wedge m \leq b \wedge m$. $\Leftrightarrow a \wedge m = b \wedge m$ by antisymmetry property of A .

$$A(a \wedge m, b \wedge m) = A(b \wedge m, a \wedge m) = 1.$$

(4) Let $B_A(PI(R)) = B_1$, suppose $(a] \in B_1$. Then there exist $(b] \in (PI(R), A)$ such that $(a]_A \cap (b]_A = (a \wedge b]_A \subseteq (0]_A$. Since $(0]_A \subseteq (a \wedge b]_A$. We have $(a \wedge b]_A = (0]_A$. Again, $R \subseteq (a \vee b]_A$. As $(a \vee b]_A \subseteq R$. We get $(a]_A \vee (b]_A = (a \vee b]_A = R$. Hence $a \wedge b = 0$ and $a \vee b$ is maximal. Implies $A(a \wedge b, 0) > 0$ and $A((a \vee b) \vee x, a \vee b) > 0$, for all $x \in R$. Thus $a \in B_A(R)$.

Conversely, suppose $a \in B_A(R)$. Then there exist $b \in R$ such that $A(a \wedge b, 0) > 0$ and $A((a \vee b) \vee x, a \vee b) > 0$. Since 0 is the least element, $0 \leq a \wedge b$ and hence $A(0, a \wedge b) > 0$. Implies that $a \wedge b = 0$ by antisymmetry property of A . Again for any $x \in R$, $a \leq (a \vee b) \vee x$, $0 \leq a \Rightarrow b = 0 \vee b \leq (a \vee b) \vee x$. $\Rightarrow a \vee b \leq (a \vee b) \vee x$ and hence $A(a \vee b, (a \vee b) \vee x) > 0$.

Therefore $(a \vee b) \vee x = a \vee b$. Thus $a \vee b$ is maximal. Now $(a]_A \cap (b]_A = (a \wedge b]_A = (0]_A$, since $a \wedge b = 0$. Imply that $(a \wedge b]_A \subseteq (0]_A$. $(a]_A \vee (b]_A = (a \vee b]_A = R$ since $a \vee b$ is maximal. So that we have $R \subseteq (a \vee b]_A$. Thus $(a] \in B_A(PI(R)) = B_1$. \square

Lemma 3.3. *Let (R, A) be an Almost Distributive Fuzzy Lattice with Birkhoff center $B_A(R)$ and $\{e_1, e_2, \dots, e_{n-1}\} \subseteq R$. Then $T = \{\bigvee_{i=1}^{n-1}(b_i \wedge e_i \wedge m) : b_i \in B_A(R)\}$, for $1 \leq i \leq n-1$ is a sub Almost Distributive Fuzzy Lattice of (R, A) .*

Definition 3.4. The sub Almost Distributive Fuzzy Lattice T in Lemma 3.6 is called the sub Almost Distributive Fuzzy Lattice of (R, A) generated by $B_A(R) \cup \{e_1, e_2, \dots, e_{n-1}\}$.

Definition 3.5. Let (R, A) be a bounded distributive fuzzy lattice $0, 1$, and $B_A(R)$ the Birkhoff center of (R, A) . A chain base of (R, A) is a finite sequence $A(e_{i-1}, e_i) > 0$, for $1 \leq i \leq n-1$ such that (R, A) is generated by $B_A(R) \cup \{e_1, e_2, \dots, e_{n-1}\}$ in which every element $x \in R$ satisfy $A(x, \bigvee_{i=1}^{n-1}(b_i \wedge e_i)) = A(\bigvee_{i=1}^{n-1}(b_i \wedge e_i), x) = 1$, where $b_i \in B_A(R)$. If (R, A) has a chain base, then (R, A) is called a P_0 -fuzzy lattice.

Theorem 3.1. *R is a P_0 -lattice if and only if (R, A) is a P_0 -fuzzy lattice.*

Proof. Let R be a P_0 -lattice and $x \in R$. Then $x = \bigvee_{i=1}^{n-1}(b_i \wedge e_i)$, for $b_i \in B(R)$ and $\{0 = e_0, e_1, e_2, \dots, e_{n-1}\}$, for $1 \leq i \leq n-1$ is a chain base. R is generated by $B(R) \cup \{e_0, e_1, \dots, e_{n-1}\}$ with $0 = e_0 \leq e_1 \leq e_2 \leq \dots \leq e_{n-1} = 1$. Let (R, A) be an Almost Distributive Fuzzy Lattice. Then $A(x, \bigvee_{i=1}^{n-1}(b_i \wedge e_i)) = A(\bigvee_{i=1}^{n-1}(b_i \wedge e_i), x) = 1$. Since $0 = e_0 \leq e_1 \leq e_2 \leq \dots \leq e_{n-1} = 1$. We have $A(e_0, e_1) > 0, A(e_1, e_2) > 0, \dots, A(e_{n-2},$

$e_{n-1}) > 0$. Hence $A(e_{i-1}, e_i) > 0$ for $1 \leq i \leq n-1$ and (R, A) is generated by $B_A(R) \cup \{e_0, e_1, \dots, e_{n-1}\}$, $b_i \in B_A(R)$. Hence (R, A) is a P_0 -fuzzy lattice. On the other hand, suppose (R, A) be P_0 -fuzzy lattice. For $x \in R$, we have $A(x, \bigvee_{i=1}^{n-1}(b_i \wedge e_i)) = A(\bigvee_{i=1}^{n-1}(b_i \wedge e_i), x) = 1 > 0$, $\Rightarrow A(x, \bigvee_{i=1}^{n-1}(b_i \wedge e_i)) > 0$ and $A(\bigvee_{i=1}^{n-1}(b_i \wedge e_i), x) > 0$. So that we have $x = \bigvee_{i=1}^{n-1}(b_i \wedge e_i)$ by antisymmetry property of A .

Since (R, A) is a P_0 -fuzzy lattice, we have $A(0 = e_0, e_1) > 0$, $A(e_1, e_2) > 0, \dots, A(e_{n-2}, e_{n-1} = 1) > 0 \Rightarrow A(e_0, e_1) > 0 \Leftrightarrow e_0 = e_0 \wedge e_1 \leq e_1 A(e_1, e_2) > 0 \Leftrightarrow e_1 = e_1 \wedge e_2 \leq e_2 \Rightarrow e_0 \leq e_1 \leq e_2$ proceeding in the same manner, we have $A(e_{n-2}, e_{n-1}) > 0 \Leftrightarrow e_{n-2} = e_{n-2} \wedge e_{n-1} \leq e_{n-1} \Rightarrow 0 = e_0 \leq e_1 \leq e_2 \leq \dots \leq e_{n-1} = 1$. Hence $\{0 = e_0, e_1, \dots, e_{n-1}\}$ form a chain base of R and $b_i \in B(R)$. Imply that R is generated by $B(R) \cup \{e_0, e_1, \dots, e_{n-1}\}$. Thus R is a P_0 -lattice. \square

Definition 3.6. If (R, A) be an Almost Distributive Fuzzy Lattice with maximal elements, then (R, A) is called P_0 -Almost Distributive Fuzzy Lattice if, $(PI(R), A)$ is a P_0 -fuzzy lattice.

In the following theorem we give elementwise characterization of a P_0 -Almost Distributive Fuzzy Lattice.

Theorem 3.2. *If (R, A) be an Almost Distributive Fuzzy Lattice with maximal element m and Birkhoff center $B_A(R)$, then (R, A) is a P_0 -Almost Distributive Fuzzy Lattice if and only if there exist elements $\{0 = e_0, e_1, \dots, e_{n-1}\}$ in (R, A) such that*

- (1) $A(m, e_{n-1} \wedge m) > 0$.
- (2) $A(e_{i-1}, e_i) > 0$, for $1 \leq i \leq n-1$ and
- (3) For any $x \in R$, there exist $b_i \in B_A(R)$ such that $A(x \wedge m, \bigvee_{i=1}^{n-1}(b_i \wedge e_i \wedge m)) = A(\bigvee_{i=1}^{n-1}(b_i \wedge e_i \wedge m), x \wedge m) = 1$.

Proof. Let (R, A) be a P_0 -Almost Distributive Fuzzy Lattice with maximal element m and Birkhoff center $B_A(R)$. Then $(PI(R), A)$ with maximal element R is a P_0 -fuzzy lattice and there exist elements $e_0, e_1, \dots, e_{n-1} \in R$ such that $(0]_A = (e_0]_A \subseteq (e_1]_A, (e_1]_A \subseteq (e_2]_A, \dots, (e_{n-2}]_A \subseteq (e_{n-1}]_A$ and for any $x \in R$, $(x]_A = \bigvee_{i=1}^{n-1} ((b_i]_A \wedge (e_i]_A) = \bigvee_{i=1}^{n-1} (b_i \wedge e_i)]_A = (\bigvee_{i=1}^{n-1} (b_i \wedge e_i)]_A$, with $(b_i]_A \in B_A(PI(R))$ the Birkhoff center of $(PI(R), A)$. Since $(e_{i-1}]_A \subseteq (e_i]_A$, for $1 \leq i \leq n-1$. We get $A(e_{i-1}, e_i) > 0$, for $1 \leq i \leq n-1$ and hence condition (2) holds. Now, $(e_{n-1}]_A = R$ imply that $m \in (e_{n-1}]_A$ and hence $A(m, e_{n-1} \wedge m) > 0$, since $(m] = R$ for m is maximal element of R . So that condition (1) holds. If $x \in R$, then $(x]_A = \bigvee_{i=1}^{n-1} (b_i]_A \wedge (e_i]_A) = (\bigvee_{i=1}^{n-1} (b_i \wedge e_i)]_A$, for $1 \leq i \leq n-1$, $b_i \in B_A(R)$ and since $x = \bigvee_{i=1}^{n-1} (b_i \wedge e_i)$. So that condition (3) holds. Therefore, the three condition holds. On the other hand, assume (R, A) be an ADFL with maximal element m satisfying condition (1), (2) and (3) above. From (2), $A(e_{i-1}, e_i) > 0$. Hence $(e_{i-1}]_A \subseteq (e_i]_A$, for $1 \leq i \leq n-1$. Let $(x] \in (PI(R), A)$. Then by (3), there exist $b_1, b_2, \dots, b_{n-1} \in B_A(R)$ such that $(x \wedge m]_A = (\bigvee_{i=1}^{n-1} (b_i \wedge e_i)]_A$, for $b_i \in B_A(PI(R))$, $1 \leq i \leq n-1$. From (1), we have $A(m, e_{n-1} \wedge m) > 0$ and hence $(e_{n-1}]_A = R$, since $(m] = R$ for a maximal element m in R .

Therefore $(PI(R), A)$ is a P_0 -fuzzy lattice generated by $B_A(PI(R)) \cup \{(0] = (e_0], (e_1], \dots, (e_{n-1}]\}$. Hence (R, A) is P_0 -Almost Distributive Fuzzy Lattice. \square

Definition 3.7. Let (R, A) be an Almost Distributive Fuzzy Lattice with Birkhoff center $B_A(R)$ is a P_0 -Almost Distributive Fuzzy Lattice if and only if there exist $\{0 = e_0, e_1, \dots, e_{n-1} = 1\} \subseteq R$ such that $A(e_{i-1}, e_i) > 0$, for $1 \leq i \leq n-1$, $A(m, e_{n-1} \wedge m) > 0$ and (R, A) is generated by $B_A(R) \cup \{e_1, e_2, \dots, e_{n-1}\} \subseteq (R, A)$.

Definition 3.8. A set $\{0 = e_0, e_1, \dots, e_{n-1}\}$ of elements in a P_0 -Almost Distributive Fuzzy Lattice (R, A) satisfying conditions (1), (2) and (3) of Theorem 3.11 is called a chain base of (R, A) . From now on wards, when we write $((R, A); e_0, e_1, \dots, e_{n-1})$ is a P_0 -Almost Distributive Fuzzy Lattice with a chain base $\{0 = e_0, e_1, \dots, e_{n-1} = 1\}$ and Birkhoff center $B_A(R)$. Where $(R, \vee, \wedge, 0, m)$ is a P_0 -Almost Distributive Lattice.

Definition 3.9. Let $((R, A); e_0, e_1, \dots, e_{n-1})$ be a P_0 -Almost Distributive Fuzzy Lattice and $x \in R$ such that $A(x \wedge m, \bigvee_{i=1}^{n-1} (b_i \wedge e_i \wedge m)) = A(\bigvee_{i=1}^{n-1} (b_i \wedge e_i \wedge m), x \wedge m) = 1(*)$.

(1) If $A(b_{i+1}, b_i) > 0$, for $1 \leq i \leq n-1$. Then $(*)$ is called a monotone representation of x , abbreviated as mon. rep.

(2) If $A(b_i \wedge b_j, 0) > 0$, for $i \neq j$, then $(*)$ is called a disjoint representation of x , abbreviated as disj. rep.

Theorem 3.3. *Every element in a P_0 -Almost Distributive Fuzzy Lattice, (R, A) has both a monotone and a disjoint representation.*

Proof. Let (R, A) be an Almost Distributive Fuzzy Lattice and $((R, A); e_0, e_1, \dots, e_{n-1})$ be a P_0 -Almost Distributive Fuzzy Lattice.

(1) $x \in (R, A)$ and $A(x \wedge m, \bigvee_{i=1}^{n-1}(b_i \wedge e_i \wedge m)) = A(\bigvee_{i=1}^{n-1}(b_i \wedge e_i \wedge m), x \wedge m) = 1$ be a disjoint representation of x , where $b_i \in B_A(R)$, for each i .

Define $A(c_i, \bigvee_{i=1}^{n-1}(b_i \wedge m)) = A(\bigvee_{i=1}^{n-1}(b_i \wedge m), c_i) = 1$, for $1 \leq i \leq n-1$.

Then $c_i \in B_A(R)$, for each i and

$$\begin{aligned} A(c_{i+1} \wedge c_i, c_{i+1}) &= A(\bigvee_{i=1}^{n-1}(b_i \wedge m) \wedge \bigvee_{j=i+1}^{n-1}(b_j \wedge m), \bigvee_{j=i+1}^{n-1}(b_j \wedge m)) \\ &= A(\bigvee_{j=i+1}^{n-1}(b_j \wedge m), \bigvee_{j=i+1}^{n-1}(b_j \wedge m)) = 1. \end{aligned}$$

Hence $A(c_{i+1} \wedge c_i, c_{i+1}) > 0$. Similarly $A(c_{i+1}, c_{i+1} \wedge c_i) > 0$. Therefore $c_{i+1} \wedge c_i = c_{i+1}$. So that we get $c_{i+1} \leq c_i$. Hence $A(c_{i+1}, c_i) > 0$, for $1 \leq i \leq n-1$. Also

$$\begin{aligned} A(c_i \wedge e_i \wedge m, \bigvee_{j=i}^{n-1}(b_j \wedge e_j \wedge m)) \\ = A([\bigvee_{j=i}^{n-1}(b_j \wedge m) \wedge e_i \wedge m], \bigvee_{j=i}^{n-1}(b_j \wedge e_i \wedge m)) = 1. \end{aligned}$$

Hence $A(c_i \wedge e_i \wedge m, \bigvee_{j=i}^{n-1}(b_j \wedge e_j \wedge m)) = 1$. Similarly $A(\bigvee_{j=i}^{n-1}(b_j \wedge e_i \wedge m), c_i \wedge e_i \wedge m) = 1$.

Therefore $A(c_i \wedge e_i \wedge m, \bigvee_{j=i}^{n-1}(b_j \wedge e_j \wedge m)) = A(\bigvee_{j=i}^{n-1}(b_j \wedge e_i \wedge m), c_i \wedge e_i \wedge m) = 1$. Then for $1 \leq j \leq n-1$, we get $A((c_i \wedge e_i \wedge m) \vee (c_{i+1} \wedge e_{i+1} \wedge m), (b_i \wedge e_i \wedge m) \vee (b_{i+1} \wedge e_{i+1} \wedge m)) = A(\bigvee_{j=i}^{n-1}(b_j \wedge e_i \wedge m) \vee \bigvee_{j=i+1}^{n-1}(b_j \wedge e_{i+1} \wedge m), (b_i \wedge e_i \wedge m) \vee (b_j \wedge e_{i+1} \wedge m)) = A((b_i \wedge e_i \wedge m) \vee \bigvee_{j=i+1}^{n-1}(b_j \wedge e_i \vee e_{i+1} \wedge m), (b_i \wedge e_i \wedge m) \vee (b_{i+1} \wedge e_{i+1} \wedge m)) = A((b_i \wedge e_i \wedge m) \vee (\bigvee_{j=i+1}^{n-1} b_j) \wedge e_{i+1} \wedge m, (b_i \wedge e_i \wedge m) \vee (b_{i+1} \wedge e_{i+1} \wedge m)) = A((b_{i+1} \wedge e_i \wedge m) \vee (b_{i+1} \wedge e_{i+1} \wedge m), (b_i \wedge e_i \wedge m) \vee (b_{i+1} \wedge e_{i+1} \wedge m)) = 1$.

Hence $A((c_i \wedge e_i \wedge m) \vee (c_{i+1}e_{i+1} \wedge m), (b_i \wedge e_i \wedge m) \vee (b_{i+1} \wedge e_{i+1} \wedge m)) = 1$. Similarly $A((b_i \wedge e_i \wedge m) \vee (b_{i+1} \wedge e_{i+1} \wedge m), (c_i \wedge e_i \wedge m) \vee (c_{i+1} \wedge e_{i+1} \wedge m)) = 1$. Therefore $A((c_i \wedge e_i \wedge m) \vee (c_{i+1} \wedge e_{i+1} \wedge m), (b_i \wedge e_i \wedge m) \vee (b_{i+1} \wedge e_{i+1} \wedge m)) = A((b_i \wedge e_i \wedge m) \vee (b_{i+1} \wedge e_{i+1} \wedge m), (c_i \wedge e_i \wedge m) \vee (c_{i+1} \wedge e_{i+1} \wedge m)) = 1$.

$$\begin{aligned} A(\bigvee_{j=1}^{n-1}(c_i \wedge e_i \wedge m), x \wedge m) &= A(\bigvee_{j=i}^{n-1}(\bigvee_{i=1}^{n-1}(b_i \wedge m) \wedge e_i \wedge m), x \wedge m) \\ &= A(\bigvee_{i=1}^{n-1}(b_i \wedge e_i \wedge m), x \wedge m) \\ &= A(x \wedge m, x \wedge m) = 1. \end{aligned}$$

Similarly $A(x \wedge m, \bigvee_{i=1}^{n-1}(b_i \wedge e_i \wedge m)) = 1$. Thus $A(\bigvee_{i=1}^{n-1}(c_i \wedge e_i \wedge m), x \wedge m) = A(x \wedge m, \bigvee_{i=1}^{n-1}(c_i \wedge e_i \wedge m)) = 1$ is a monotone representation of x in (R, A) .

(2) Let $x \in R$ and $A(x \wedge m, \bigvee_{i=1}^{n-1}(b_i \wedge e_i \wedge m)) = A(\bigvee_{i=1}^{n-1}(b_i \wedge e_i \wedge m), x \wedge m) = 1$ be a monotone representation of x . Where $b_i \in B_A(R)$ for each i . Define $A(c_i, b_i \wedge b_{i+1}^m) = A(b_i \wedge b_{i+1}^m, c_i) = 1$, for $1 \leq i \leq n-2$ and $A(c_{n-1}, c_{n-1}) > 0$. Where b_{i+1}^m is the complement of $b_{i+1} \wedge m$ in $[0, m]$. That is $A(b_{i+1}^m \wedge (b_{i+1} \wedge m), 0) > 0$ and $A(m, b_{i+1}^m \vee (b_{i+1} \wedge m)) > 0$. Where m is a maximal element in (R, A) . $A(c_i \wedge c_j, 0) > 0$, for $i \neq j \Rightarrow i+1 \neq j+1$.

$$\begin{aligned} &= A((b_i \wedge b_{i+1}^m) \wedge (b_j \wedge b_{j+1}^m), 0) \text{ since } c_i = b_i \wedge b_{i+1}^m, c_j = b_j \wedge b_{j+1}^m, \\ &= A((b_{i+1}^m \wedge b_i \wedge b_j) \wedge (b_{j+1}^m), 0) = A(b_{i+1}^m \wedge 0 \wedge b_{j+1}^m, 0) = A(0, 0) = 1 > 0. \end{aligned}$$

Hence $A(c_i \wedge c_j, 0) > 0$, for $i \neq j$. Now, we show $A(\bigvee_{k=j}^{n-1}(c_k \wedge e_k \wedge m), \bigvee_{k=j}^{n-1}(b_k \wedge e_k \wedge m)) = A(\bigvee_{k=j}^{n-1}(b_k \wedge e_k \wedge m), \bigvee_{k=j}^{n-1}(b_k \wedge e_k \wedge m)) = 1(*)$.

By using induction on j . Suppose $j = n - 1$. Then $A(c_{n-1}, b_{n-1}) = A(b_{n-1}, c_{n-1}) = 1$. So that $A(c_{n-1} \wedge e_{n-1} \wedge m, b_{n-1} \wedge e_{n-1} \wedge m) = A(b_{n-1} \wedge e_{n-1} \wedge m, c_{n-1} \wedge e_{n-1} \wedge m) = 1$. Thus (*) is true for $j = n - 1$.

Assume $i > 1$ and (*) holds for $j = i$. That is $A(\bigvee_{k=i}^{n-1}(c_k \wedge e_k \wedge m), \bigvee_{k=i}^{n-1}(b_k \wedge e_k \wedge m)) = A(\bigvee_{k=i}^{n-1}(b_k \wedge e_k \wedge m), \bigvee_{k=i}^{n-1}(c_k \wedge e_k \wedge m)) = 1$. To prove (*) holds for $j = i - 1$.

$$\begin{aligned} & A(\bigvee_{k=i-1}^{n-1}(c_k \wedge e_k \wedge m), \bigvee_{k=i-1}^{n-1}(b_k \wedge e_k \wedge m)) \\ &= A((b_{i-1} \wedge e_{i-1} \wedge m) \vee (b_i \wedge e_i \wedge m) \vee \bigvee_{k=i+1}^{n-1}(b_k \wedge e_k \wedge m), \\ & \quad \bigvee_{k=i-1}^{n-1}(b_k \wedge e_k \wedge m)) = A(\bigvee_{k=i-1}^{n-1}(b_k \wedge e_k \wedge m), \\ & \quad \bigvee_{k=i-1}^{n-1}(b_k \wedge e_k \wedge m)) = 1 > 0. \end{aligned}$$

Hence $A(\bigvee_{k=i-1}^{n-1}(c_k \wedge e_k \wedge m), \bigvee_{k=i-1}^{n-1}(b_k \wedge e_k \wedge m)) > 0$. Similarly

$A(\bigvee_{k=i-1}^{n-1}(b_k \wedge e_k \wedge m), \bigvee_{k=i-1}^{n-1}(c_k \wedge e_k \wedge m)) > 0$. Now,

$$\begin{aligned} & A(x \wedge m, \bigvee_{i=1}^{n-1}(c_i \wedge e_i \wedge m)) \\ &= A(x \wedge m, \bigvee_{i=1}^{n-1}(b_i \wedge e_i \wedge m)) \\ &= A(\bigvee_{i=1}^{n-1}(c_i \wedge e_i \wedge m), \bigvee_{i=1}^{n-1}(b_i \wedge e_i \wedge m)) \\ &= A(\bigvee_{i=1}^{n-1}(b_i \wedge e_i \wedge m), \bigvee_{i=1}^{n-1}(b_i \wedge e_i \wedge m)) = 1 > 0. \end{aligned}$$

Hence $A(x \wedge m, \bigvee_{i=1}^{n-1}(c_i \wedge e_i \wedge m)) = A(\bigvee_{i=1}^{n-1}(c_i \wedge e_i \wedge m), x \wedge m) = 1$

is a disjoint representation of x in (R, A) . \square

Corollary 3.1. *Let (R, A) be an Almost Distributive Fuzzy Lattice with a maximal element m and Birkhoff center $B_A(R), \{0 = e_0, e_1, \dots, e_{n-1}\} \subseteq R$ such that $A(e_{i-1}, e_i) > 0$, for $1 \leq i \leq n-1$ and $A(m, e_{n-1}, \wedge m) > 0$ and (R_0, A) be the sub Almost Distributive Fuzzy Lattice of (R, A) generated by $B_A(R) \cup \{e_0, e_1, e_2, \dots, e_{n-1}\}$. Then every element of (R_0, A) has both a monotone and disjoint representation.*

Theorem 3.4. *Let (R, A) be an Almost Distributive Fuzzy Lattice and $((R, A); e_0, e_1, \dots, e_{n-1})$ be a P_0 -Almost Distributive Fuzzy Lattice. Let $x \in R, A(x \wedge m, \bigvee_{i=1}^{n-1}(b_i \wedge e_i \wedge m)) = A(\bigvee_{i=1}^{n-1}(b_i \wedge e_i \wedge m), x \wedge m) = 1$ be a disjoint representation of $x \in R$. Define $A(c_i \wedge m, (b_i \vee b_{i+1} \vee \dots \vee b_{n-1}) \wedge m) = A((b_i \vee b_{i+1} \vee \dots \vee b_{n-1}) \wedge m, c_i \wedge m) = 1$, for $1 \leq i \leq n-2$. Then $A(x \wedge m, \bigvee_{i=1}^{n-1}(c_i \wedge e_i \wedge m)) = A(\bigvee_{i=1}^{n-1}(c_i \wedge e_i \wedge m), x \wedge m) = 1$ is a monotone representation of x .*

Lemma 3.4. *Let $((R, A); e_0, e_1, \dots, e_{n-1})$ be a P_0 -Almost Distributive Fuzzy Lattice, and $x, y \in (R, A)$. If $A(x \wedge m, \bigvee_{i=1}^{n-1}(b_i \wedge e_i \wedge m)) = A(\bigvee_{i=1}^{n-1}(b_i \wedge e_i \wedge m), x \wedge m) = 1$ and $A(y \wedge m, \bigvee_{i=1}^{n-1}(c_i \wedge e_i \wedge m)) = A(\bigvee_{i=1}^{n-1}(c_i \wedge e_i \wedge m), y \wedge m) = 1$ are mono. rep. of x and y respectively, then*

(1) $A(x \wedge y \wedge m, \bigvee_{i=1}^{n-1}(b_i \wedge c_i \wedge m)) = A(\bigvee_{i=1}^{n-1}(b_i \wedge c_i \wedge m), x \wedge y \wedge m) = 1$ is a mono. rep. of $x \wedge y$.

(2) $A((x \vee y) \wedge m, \bigvee_{i=1}^{n-1}((b_i \vee c_i) \wedge e_i \wedge m)) = A(\bigvee_{i=1}^{n-1}((b_i \vee c_i) \wedge e_i \wedge m), (x \vee y) \wedge m) = 1$ is a mono. rep. of $x \vee y$.

Proof. (1) Since $A(b_{i+1}, b_i) > 0$ and $A(c_{i+1}, c_i) > 0$, we get $A(b_{i+1} \wedge c_{i+1}, b_i \wedge c_i \wedge b_{i+1} \wedge c_{i+1}) = A(b_i \wedge b_{i+1} \wedge c_i \wedge c_{i+1}, b_i \wedge c_i \wedge b_{i+1} \wedge c_{i+1})$, since $(b_{i+1} = b_i \wedge b_{i+1}$ and $c_{i+1} = c_i \wedge c_{i+1} = A(b_i \wedge c_i \wedge b_{i+1} \wedge c_{i+1}, b_i \wedge c_i \wedge b_{i+1} \wedge c_{i+1}) = 1 > 0$, since $b_i \wedge b_{i+1} \wedge c_i \wedge c_{i+1} = b_i \wedge c_i \wedge b_{i+1} \wedge c_{i+1}$. Hence $A(b_{i+1} \wedge c_{i+1}, b_i \wedge c_i \wedge b_{i+1} \wedge c_{i+1}) > 0$. Similarly $A(b_i \wedge c_i \wedge b_{i+1} \wedge c_{i+1}, b_{i+1} \wedge c_{i+1}) > 0$. Therefore $A(b_{i+1} \wedge c_{i+1}, b_i \wedge c_i \wedge b_{i+1} \wedge c_{i+1}) = A(b_i \wedge c_i \wedge b_{i+1} \wedge c_{i+1}, b_{i+1} \wedge c_{i+1}) = 1$.

$$\begin{aligned} & A(x \wedge y \wedge m, \bigvee_{i=1}^{n-1} (b_i \wedge c_i \wedge m)) \\ &= A(x \wedge m \wedge y \wedge m, \bigvee_{i=1}^{n-1} (b_i \wedge c_i \wedge e_i \wedge m)) \\ &= A(\bigvee_{i=1}^{n-1} (b_i \wedge e_i \wedge m) \wedge \bigvee_{i=1}^{n-1} (c_i \wedge e_i \wedge m), \bigvee_{i=1}^{n-1} (b_i \wedge c_i \wedge e_i \wedge m)) \\ &= A(\bigvee_{i=1}^{n-1} (b_i \wedge c_i \wedge e_i \wedge m), \bigvee_{i=1}^{n-1} (b_i \wedge c_i \wedge e_i \wedge m)) = 1 > 0. \end{aligned}$$

Hence $A(x \wedge y \wedge m, \bigvee_{i=1}^{n-1} (b_i \wedge c_i \wedge e_i \wedge m)) > 0$. Similarly $A(\bigvee_{i=1}^{n-1} (b_i \wedge c_i \wedge e_i \wedge m), x \wedge y \wedge m) > 0$. Therefore $A(x \wedge y \wedge m, \bigvee_{i=1}^{n-1} (b_i \wedge c_i \wedge e_i \wedge m)) = A(\bigvee_{i=1}^{n-1} (b_i \wedge c_i \wedge e_i \wedge m), x \wedge y \wedge m) = 1$ are mono. rep. of $x \wedge y$.

$$\begin{aligned} & (2) A((b_i \vee c_i) \wedge (b_{i+1} \vee c_{i+1}), b_{i+1} \vee c_{i+1}) \\ &= A([(b_i \vee c_i) \wedge b_{i+1}] \vee [(b_i \vee c_i) \wedge c_{i+1}] \wedge t, b_{i+1} \vee c_{i+1}) \\ &= A([(b_i \wedge b_{i+1}) \vee (b_i \wedge c_{i+1}) \vee (c_i \wedge b_{i+1}) \vee (c_i \wedge c_{i+1})] \wedge t, b_{i+1} \vee c_{i+1}) \\ &= A(b_{i+1} \vee (b_i \wedge c_{i+1}) \vee (c_i \wedge b_{i+1}) \vee c_{i+1}] \wedge t, b_{i+1} \vee c_{i+1}) \\ &= A([b_{i+1} \vee c_{i+1} \vee s] \wedge t, b_{i+1} \vee c_{i+1}), \text{ for } s = (b_i \wedge c_{i+1}) \vee (c_i \wedge b_{i+1}) \\ &\text{and } t = b_{i+1} \vee c_{i+1} = A((t \vee s) \wedge t, t) = A(t, t) = 1. \text{ Hence } A((b_i \vee c_i) \wedge \\ &(b_{i+1} \vee c_{i+1}), b_{i+1} \vee c_{i+1}) = 1 > 0. \text{ Similarly } A(b_{i+1} \vee c_{i+1}, (b_i \vee c_i) \wedge \\ &(b_{i+1} \vee c_{i+1})) = 1. \text{ Therefore } A((b_i \vee c_i) \wedge (b_{i+1} \vee c_{i+1}), b_{i+1} \vee c_{i+1}) \\ &= A(b_{i+1} \vee c_{i+1}, (b_i \vee c_i) \wedge (b_{i+1} \vee c_{i+1})) = 1. \text{ Now,} \end{aligned}$$

$$\begin{aligned}
& A((x \vee y) \wedge m, \bigvee_{i=1}^{n-1} (b_i \vee c_i) \wedge e_i \wedge m)) \\
&= A((x \wedge m) \vee (y \wedge m), \bigvee_{i=1}^{n-1} (b_i \vee c_i) \wedge e_i \wedge m)) \\
&= A(\bigvee_{i=1}^{n-1} (b_i \wedge e_i \wedge m) \vee \bigvee_{i=1}^{n-1} (c_i \wedge e_i \wedge m), \bigvee_{i=1}^{n-1} ((b_i \vee c_i) \wedge e_i \wedge m)) \\
&= A(\bigvee_{i=1}^{n-1} ((b_i \vee c_i) \wedge e_i \wedge m), \bigvee_{i=1}^{n-1} ((b_i \vee c_i) \wedge e_i \wedge m)) = 1 > 0.
\end{aligned}$$

Hence $A((x \vee y) \wedge m, \bigvee_{i=1}^{n-1} ((b_i \vee c_i) \wedge e_i \wedge m)) > 0$. Similarly $A(\bigvee_{i=1}^{n-1} ((b_i \vee c_i) \wedge e_i \wedge m), (x \vee y) \wedge m) > 0$. Therefore $A((x \vee y) \wedge m, \bigvee_{i=1}^{n-1} ((b_i \vee c_i) \wedge e_i \wedge m)) = A(\bigvee_{i=1}^{n-1} ((b_i \vee c_i) \wedge e_i \wedge m), (x \vee y) \wedge m) = 1$ are mono. rep. of $x \vee y$. \square

4. Conclusion

The concept of P_0 -Almost Distributive Fuzzy Lattice with finite chain base has been introduced and we prove basic properties of P_0 -Almost Distributive Fuzzy Lattice and the set of all principal ideal fuzzy lattice also discussed. Every element of a P_0 -Almost Distributive Fuzzy Lattice has both a monotone and a disjoint representation.

Acknowledgement

The authors would like to extend their gratitude to Bahir Dar and Wollo Universities, Ethiopia.

References

- [1] Berhanu Assaye Alaba and Gerima Tefera Dejen, Birkhoff center of Almost Distributive Fuzzy Lattice, International Journal of Computing Science and Applied Mathematics 3(2) (2017), 65-70.
DOI: <https://doi.org/10.12962/j24775401.v3i2.2211>
- [2] A. Berhanu, G. Yohannes and T. Bekalu, Almost distributive fuzzy lattice, International Journal of Mathematics and its Application 5(1C) (2017), 307-316.

- [3] G. Epstien and A. Horn, Chain based lattices, *Pacific Journal of Mathematics* 55(1) (1974), 65-84.
DOI: <https://doi.org/10.2140/pjm.1974.55.65>
- [4] J. A. Goguen, *L*-fuzzy set, *Journal of Mathematical Analysis and Applications* 18(1) (1967), 145-174.
DOI: [https://doi.org/10.1016/0022-247X\(67\)90189-8](https://doi.org/10.1016/0022-247X(67)90189-8)
- [5] Inheung Chon, Fuzzy partial order relations and fuzzy Lattices, *Korean Journal of Mathematics* 17(4) (2009), 361-374.
- [6] Ivan Mezzomo, Benjamin C. Bedregas and Regivan H. N. Santiago, Kinds of fuzzy lattices, *Second Brazilian Congress on Fuzzy System* (2012), 657-671.
- [7] G. C. Rao and Mihret Alamneh, P_0 -Almost Distributive Lattice, *South East Asian Bulletin of Mathematics* 42(3) (2018), 437-452.
- [8] Naveen Kumar Kakumanu and G. C. Rao, properties of P_0 -Almost distributive lattice, *International Journal of Scientific and Innovative Mathematical Research* 2(3) (2014), 256-261.
- [9] G. C. Rao, Almost Distributive Lattice, Ph.D Dissertation submitted to Department of Mathematics, Andra University for the Award of the Degree of Doctor of Philosophy in Mathematics, 1980.
- [10] U. M. Swamy and S. Ramesh, Birkhoff center of an almost distributive lattice, *International Journal of Algebra* 3(11) (2009), 539-546.
- [11] U. M. Swamy and G. C. Rao, Almost distributive lattice, *Journal of the Australian Mathematical Society* 31(1) (1981), 77-91.
DOI: <https://doi.org/10.1017/S1446788700018498>
- [12] E. Sanchez, Resolution of composite fuzzy relation equations, *Information and Control* 30(1) (1976), 38-48.
DOI: [https://doi.org/10.1016/S0019-9958\(76\)90446-0](https://doi.org/10.1016/S0019-9958(76)90446-0)
- [13] T. Traczyk, Axioms and some properties of post algebra, *Colloquium Mathematicum* 10(2) (1963), 193-209.
DOI: <https://doi.org/10.4064/cm-10-2-193-209>
- [14] L. A. Zadeh, Fuzzy sets, *Information and Control* 8(3) (1965), 338-353.
DOI: [https://doi.org/10.1016/S0019-9958\(65\)90241-X](https://doi.org/10.1016/S0019-9958(65)90241-X)

